1. Question: IR NRE@IT TAT (O IF (F Toa FEA?

A) TR A
B) SISO IET=IENE

C) 27 RIqER
D) fier s e

Answer: A) SJ$ATEF (T

Explanation: - GIErTo (T (bbb u-529) T8 FHFIEW, STEF, ((P-NZey [ aw 932 IRa]
HIRTF A OTHFH| - fofdl Yo b HE 'IFreR] 8 WiRey FEIAE 1+ TfReTd o2 T6+1 FE |

2. Question: ‘I AfAFIF AN TS (F @92

A) T fita

B) o1 (AT

C) Fwa 5154

D) 3f%6w GEITENT

Answer: A) "TsW fira

Explanation: I\ SEPIENET TMA1T S92 S NNF e SFHe 2T| - 93 MaF1F T

IR SHH TSfS T T T T6S AFT6 TS @T4F (ST TS (S| - IFFGEEH JPF 79
TG WA ST FEA |

3. Question: (FF FIGT TCAF Tels FIST AP A "AFI FI]5 [T 237?

A) ezt

B) ST ST

C) FeFINEAT 37

D) (F62 7%

Answer: A) @3t

Explanation: FT& TS& 3T ST FIFF AR (AT, S32)1 - 4 5% @6 S3f6 FFer
| N FAOT- "SI

4. Question: "S[HA" TGN JTFEF (FF (RGIH ANIF1?

A) TIfOST



B) (Well-=T181
C) (IF6-AT61d
D) S1f&

Answer: A) FTAfS
Explanation: - SIf&' (55T 5fFa 3T | - FRwAN 5159 76w "N (qbs@a AT 54T |

SATEE AMfEF (TN, ©F ©IF BfEeT==7a A1 6fFa 9 ba1| - "9FANE (REHIR bfFa SFIET | -
TG (=16 S BfHa 'SITeT |

5. Question: "S8¥ JFF' SAAT T6TeT (F?

A) T8FE ST
B) &f2g I3

C) *TRIe FIAEH
D) &%
Answer: A) *I339 35T

Explanation: % FAIGIE Ta¥ T TAHHG S» LS S SF1 23

6. Question: 'FIEFT P (P HOF I6A1?

A) TGS
B) (=1GsTg
C) F13%
D) SIS

Answer: B) (=165T9

Explanation: FTF Fa5I' SAATTH F6OT- T el A I |

7. Question: (FI{G 2 ATPLT A Toell?

A) oFF ¥fega

B) SIgfes SATeT

C) RIS Afe1F ST AfSxT
D) ST 1331

Answer: A) ©¥F 2foqa



Explanation: 37 991 33 afb® %: - SR FGIT, - AT (S0, FITOT Fe), - TB7 Tl
FSIT (SD©Q), - FTFFT NF (SDER) | TN FIRAT- AT F37¢ |

8. Question: IR NS TE6 T6AF TIOF (F?

A) (TR TERwE
B) A4 STFF
C) (TG (5T
D) FRE AT W

Answer: B) Ity W

Explanation: SR@ AT (S38-5199) NI, ALIFIH, IRTSHT 6 FTOF, SANAFT R0
GEICE

9. Question: SHINSHIIAS 'FIF" FI6] (FF ATFT FAN FF1F @ 37?2

A) SIRIEST =fFFT

B) §N&g
C) 3Ifel 8 Feray

D) F@ET
Answer: A) SIS fasT
Explanation: 35 IS FF NS AI@T T FIFTIT TR (5239) 7 I0Qe | 92 FIE (o

55 6 Fel F(e AR - FIF FAOI0 TV FFI10 2T FEE FaFF| - A6 MMage =ew Afve o
s\ 6 sefe am|

10. Question: "SI ag7 F7Te 1= F2

A) =8

B) X3
C) =g
D) I&fsTTeY

Answer: B) 3f&3

Explanation: - S @d 39781 < 38T | - g’ @ 78 1= Sf[{ws | - '2F H [de
= T | - P = ferdte T 5%



11. Question: 'TZSIF IO IF AF ITIE

A) fawme
B) fRergg
C) FgAT
D) q¥99

Answer: A) faumg

Explanation: 98 23Jd ¥©17 I = 799

12. Question: (I SF 9 RAAGF 932 I TOF TIHT NARF (TR SF IET?

A) 575 S
B) F5F ST
C) 3= T
D) f&8 sy

Answer: A) 375 31

Explanation: (I S0 SRATRTES 1 (& 07 NARIF (FRNT 972 FT YR A T1F OIS 28
ST | - &S STeT systsifersrey swft ey 7w 23|

13. Question: (F1F IFIT BH?

A) SRR SiFa Sl

B) OE1F ST FITI

C) o1 F Siae S TS1

D) ©rR1d &lae siRrreyef

Answer: B) OEF SIFF AITI

Explanation: S {6 936 ROMv=m, IR ROl *ET S777ef | - So7yef Tfoq o sjewzeye 71
fFErel| - ARG AT IR ST AT T TSI SferST o] I ST TR

14. Question: "S[A" A7 T JCT0

A) BT T

B) BT N

C) 5% ¥ 17
D) viid e 3



Answer: B) 5/a&T Rl

Explanation: 57 9 IS 3 B 1T A1 '5I el 33| - afb Sfre FHLTET ST
SaRA |

15. Question: TG T, T T FAT 92 I ' IFY T (T FAE (T [Tofed SURIT?

A) FOFTAE
B) == &Rt
C) AfEF o5
D) X FTEE

Answer: B) SFWIE @t

Explanation: IFG0® “@F4” 6@ AT FE2 PO IO BR FHPH@I SUIRAT|

16. Question: 'QAEY QRN (@ TTF (1w, TOIR FfF 3N I (FT T JF7?

A) ST

B) W{Tﬁ?
C) (W5
D) Sfte

Answer: B) SIe[&IFTP

Explanation: (I &Y AF6 IS ¥SANFF 9F J1 IFEF AfFe 195 TG A0S ©F 5920 2F,
O 3 1 GG 135 T (oo - (ARG @ (I FFF (TAR, o)k QN 73 2T |

17. Question: "STEyATS fAfAfifer fRema amenfa Il R wTEg @« FET FEe?

A) %

B) CTA@@at
C) fear

D) FFT

Answer: B) CT@e4t
Explanation: Sas1aTeT fAiferfsifer e areanfa 3161 a9iwar 315



18. Question: IR " F© IPAI?

A) 93 FIEIF
B) 72 I™IH
C) b 3™
D) foa F3@F

Answer: B) @ 9501

Explanation: XSTF 324 3T IRAT FIES TNFF HHRRFOIT 99 Tgd TC0d ST FoT3 97 T
M7 3% fSafG: - MAFE, - T956 3 - TFFHFJS | - 97 FE RGIF =4 I9] 2T TS =03 |

19. Question: @FF6 BF IAA?
A) 59

B) &

C) wag

D) &5

Answer: B) 5%

Explanation: 5 (f07)

20. Question: 'INaS "Ed @8 2E -

A) ST 3

S IEREICIFRERI G
C) BREF I N ATF
D) ST (@2

Answer: C) 5a0F I e A&

Explanation: SIgfad e SN To1F § ANATFT R0 TP RS TP 18 SN FIES
ANATHT T JT6d FEA | - 'ANATFH' T @Y 2E AT AS JT AFAIH (@2 |

21. Question: AT, ATH 3 SO (F1F FaIF T2

A) TG
B) (899

C) 9
D) 11



Answer: D) 319471

Explanation: SXa=1a SHARISER M FA® TASF], 5T, Fera, GRS, M7 Tofs|

22. Question: =B "JIFTH (FITT SAFS?

A) TR
B) fRwarg
C) RIS
D) MXFIETS

Answer: D) RIS

Explanation: M6Id IRNF AT I35 SFFIA TR a1 3| T S I S a FeAsTw S
FEM

23. Question: STRTIRTE TS GIFT RARTIAIT T3 SR HICHAR -

A) GICTTEH FPTaTa

B) STR3w TS

C) ST (IS (R
D) ST 42 A% T2

Answer: A) SICTTHG AU

Explanation: - GI3T gy S s/ S /AT i Se fiers S a9 9% F20a|
(fSfer b2 08 AETF & TFER (A S>0 Y FEH ©S o1 738 Wiy Mo FES

24. Question: T fAL6T FRHNET FTIWFT Fo?
A) 8 =g
B) 9 a%F
C) v =g

D) ¢ =T

Answer: B) 9 3=

Explanation: - RIJHET S5 (0) A2 w%T AT T4 (A6 SRR 972 AN FETHEGE T
T FTT MY T2ET SN (A 76! ¢ I=F|



25. Question: MFge (F (MCTF O IRTWCT (372

INEIGHE

B) Hieie

C) @

D) (F1af52 God a7

Answer: A) NTEIT

Explanation: IR ¢v 6 0T IRTGCTE &6 99 6 fFre I@@| - 93 s avfe o, >

FHAEG (SATET, ©ft TF TRFAME, 86 F2FIH 2RFHrE, 35 37 e 8 o6 FapEn| - Tige
(TISTETR N TSI AZBSNAIN TR (FIAT GOIATN (2 |

26. Question: (FF IR SFfeR MRIAMHF FPN Prowf=s?

A) =

B) a1fsa

C) S8@RT

D) sITET =af6 Jifes $a71 2 8=

Answer: C) 8@

Explanation: 736 Fifee $a7 2@®

27. Question: fIEI @ T6F CNAESNS ATIRETT?

A) T-RRE@S

B) RS ik
C) T (T
D) 3™ Fgel

Answer: A) T1-R@a

Explanation: I (¥ T2 39 IgoT SN (T (5 TFTR b08b) TR 1T fofer Sy St
13 (B165118) | FSfer S[a18 (CTAEsI) =@ (ST (58 JASTE b8 Y) | (NAES (¥ aF(6 T
SRS FE [l ST ST I8 34|

28. Question: IRCCT TONE F JARMTE FAT TS T 51 A2

A) b



B) 8
C)¢a
D) w

Answer: C) ¢

Explanation: IRTCT IS fool IAITE NI TIFTH 535 51 o= | INT: ISfaqe fam,
YA/ TS AW T2 (ST AfATw |

29. Question: FRATCIT AN FT6I1T FH@ (FIF T AE2 AT FI= TS99 RONF 9L (Fq?

A) @51 AT &
B) CTA RIfS{aT

C) &g Swid ST
D) Iy 213w

Answer: B) (¥ 21fSel]

Explanation: - Si% STasyster TSt PEIEa 10 o SI2 FAE | - (g A 2o oz
o1 foawerer | ©12 fSfer @2 e F1w sTasvw Susty ROTE 1o (o |

30. Question: IR (F1F @ CTBT e[ FH?

A) 5233
B) 200}
C) 200
D) X000

Answer: A) 5923 (1999)

Explanation: IR fA03F ¢8-83 (7 RO MBAT 5o ITH6a @ b2 b W 8 Aeq@ae FE
Y000 NTEF ¥ b

31. Question: fSON TAE (F (ST AT ?

A) (FTRTAT
B) TG
C) k7T
D) e

Answer: A) (@A



Explanation: F3e (ST TG0 SAEI (STRN6T Tiid SSaRCTH > TSI FOa (@ 2008
ST O BT ST F1 IR

32. Question: TRAWT IS W (FIA 2T F© F9ONF SAF61o?

A) €9 S
B) L& &
C) L3 &
D) Yo &

Answer: B) b¢ &«

Explanation: SkfI&Te ST, [ASH Yo T TusTy SAFS 1 NI TAGH (FTEA 27 J1| (FTER A7
YT (55 25T 1 YTl F0© 2|

33. Question: IRTET AFNF FONAT RCNET oG (FNT AIFFe?

A) B3

B) ST&IF
C) IeTE

D) (F11R1S

Answer: A) Bf3r

Explanation: STS1X fFCNET S (F7us (FTRTG, STEIH|

34. Question: BT 8 T[AT TAF SRETST (FTI?

A) TR
B) &=
C) framesra
D) 3BT

Answer: C) famssia

Explanation: TR TG 932 263 Sl FACOIAT SIA© SRS (SeTF {0 @ aFf
ST (V@ T37TH RA® | A6 TRATH (FTT SO ST ST AT ST NPT IGTT Tl N5
fAifeTe @@ TIF (ST 7 M TR FROTIR IR Y2 THtef 972 aff T 4o fhow
AR WYFA BT (@ T35 ISTI-FAORT ISTI 124 63 S A Vil 77 fAifere
I IBAA A0t FF-FAOIIT AN TG IST-FAORT a1 forefel Fo@= |



35. Question: "SACIET (FIT TG0 (T NFNTIT FAFH?

A) srf

B) 7918

C) fere 8 = fe

D) O1%F 3 (BIeTIsITTST

Answer: C) i1 8 =3f&

Explanation: Y008 I STAGIH (FIETF NECT NSO (GIETFSNT (F53IMF W& 27
IREACT | 9% T390 SIF 3 (BRI FFAIF =4 |

36. Question: Y008 N NIHYT (FT (WCTF BT TR THT FEA?

A) ARG

B) e

C) fe@ear

D) @b o6 IO FaT TA®

Answer: D) Q619

Explanation: 736 Fifee $a7 2@®

37. Question: 3 REEF FF IRAMTICT PN (YT BT FAT2J?

A) S TREIE, $5DY
B) S IR, S
C) S IR, va¢
D) & TFTR, 5295

Answer: C) b 6jg"1|3, NP

Explanation: S>>0 S 3 S % ST [+ TS FH A2 Sddo (ATT]) ©fF F91 2| T
SR GO T ST SFIIAT AFG 0 (F 555 B I35 AT FROTR S FA |
ST SNGT6 LT (TS 3P Tmfore fFafHhe 28T 93 IHF FEIEH V@I 3 Fool RFF &)
T LD (I AT T AT S SFR b2 (¥F FRFA F7 27|

38. Question: IRATTT STIF (HEET THNIIFAT (F1A 32



A) IR

B) 38aafGfY
C) JRANI%H
D) frrams

Answer: D) fgam:s

Explanation: IRAMT SHIF (HIIET T THIIFI T [T |

39. Question: FAHA! AAF TIH SIHGH (F1 ATGT?

A) fasar
B) G
C) sfarsd
D) ey

Answer: A) fasar

Explanation: Karnaphuli River, major watercourse of the Chittagong region, Bangladesh. Rising
in the Mizo Hills of Mizoram state, northeastern India, it flows about 170 miles (270 km) south
and southwest through the southeastern arm of Bangladesh to empty into the Bay of Bengal, 12
miles (19 km) below the city of Chittagong

40. Question: @G IRTET @ T (B36 T 7o FE?

A) S99
B) x00%
C) S>>
D) xo000

Answer: B) 00b

Explanation: $539 S (@2 IR 6 0o SRS SIS (S (7T ROTE SIS (AT
SR | Y000 NI 36 I ST W (556 (VRS (7 RN SRS Swsfysmm e F |

41. Question: (36 TR (PTTRF S T STCEHT (FINT Aeffoe 27?

A) fafe

B) FIIET

C) SI3Te1
D) (TS



Answer: B) $1J(HT (Cairo)

Explanation: 55 b ST JETRITGIE ASTAT (FAES, (S5 [0S ATFI@R(NAM) 203
S (e ¥ BRI

42. Question: =TT AT (PT (FTI FRPTSTIE J& PER?

A) TR 3 SIS

B) QGBS 3 SIS
C) ©1F® 3 & NN

D) SIGeI6F 3 SIS NRISTSTH

Answer: B) SIGNTF 3 @RI

Explanation: Panama Canal, owned and administered by the Republic of Panama, that
connects the Atlantic and Pacific oceans through the narrow Isthmus of Panama.

43. Question: (F (RN I T DO?

A) faT st

B) (I5T AT &3
C) SIS ST

D) &6 W6

Answer: A) 2f~aT SRt

Explanation: Margaret Thatcher (Alternative Titles: Iron Lady, Margaret Hilda Thatcher,
Baroness Thatcher of Kesteven): British Conservative Party politician and prime minister
(1979-90), Europe’s first woman prime minister.

44. Question: A SNfET Fe7Ce fF (FRT?
A) aFo4 fFaTTe arffas

B) 936 IrER

C) TS (FRI[AF

D) a%fB (ST

Answer: A) 9354 256 arffas

Explanation: The appearance in the news of photographs of U.S. soldiers abusing Iraqis at



Abu Ghraib prison west of Baghdad—a facility notorious for brutality under the Ba‘th
regime—further damaged world opinion of the United States.

45. Question: 3TEEIF I FHEF (FINT AI50?

N ECERES
B) (TS
C) @™
D) ENIEE]

Answer: D) smfa
Explanation: UNESCO Headquarters: Located on the Place de Fontenoy, in Paris, the main

building which houses the Headquarters of UNESCO was inaugurated on 3 November 1958.
Source: unesco.org

46. Question: f35T® ¢o INET (AT FHINF (F?

A) O

B) e

C) A8

D) AT A6 ST Fa7 7@®

Answer: A) (T (Pelé)

Explanation: =6 1feT Fa1 @™

47. Question: FZINT 7T TFS (FI T3S FZTHET TATW] (ST FET?

A) SRR TE
B) 3% ST

C) 8T fa e efme
D) ERIEEACIBI)

Answer: C) S5 faa #lwe
Explanation: Yasser Arafat, president (1996—-2004) of the Palestinian Authority (PA), chairman

(1969-2004) of the Palestine Liberation Organization (PLO), and leader of Fatah, the largest of
the constituent PLO groups



48. Question: 'f&& A 3715 =67 afvTeT (F?

A) ST S0t

B) F&IT IF
C) faenfa fFaea

D) T 3

Answer: A) ST F40T

Explanation: (3 33 9357 RS Foaied | - S %S W (@ $59 5 714G IAEA 97
TEIACEF f@e | - 2000 - Y00 ST G S 3qNF GRET FNT IF AATHF @l | - B1F @720
2@ 9 - Disarming Iraq. B3: IAEA SWINRG 3 A1

49. Question: a4 ST (VF A T[S PO (AN JTHIH (TFRA?

A) QST
B) *Ifeo
C) =I5

D) STTese A6 Ifes ST 2@ =
Answer: D) STTo 3

Explanation: 736 1o $a7 2@A®

50. Question: (S3FFA TGP T I TSI TS ) (NI TSN JHATIF A [F2

A) SO I3 TR

B) farsty

C) frarer

D) fiwmSar =i F1fes a1 2@®

Answer: D) fimear

Explanation: G ifed Fa7 2@®

51. Question: 3@ FAF MFA-FHT @Y THETF AfSTT BF 77?

A) 000 NEF bb FT6
B) 00w I 38 J6
C) 2009 SIEF 2} A6
D) 00 NI 20 N6



Answer: B) 2009 STEF 38 M6

Explanation: - 2009 TR 0 Fb NFA (@oa1Hd AT 20F AFHT FE| - 2000 JET AP
(TOTRT RN 3T ARSI S TS Hox N A

52. Question: ISAT FOTEF FXNGT @ (WCIF ST HF?

A) faifer

B) M@
C) T
D) =g

Answer: A) fafer

Explanation: SIST:EE TG § > NP6 (T SHT@INS SOEH| - fSfel TS A | S
SN 2059 fofd wir 72T T fF 1 a7 Tnfefie 2|

53. Question: fITIT FgTex FF (F1G?

A) S1RSIH

B) 3™

C) o

D) wfger s{Tey
Answer: A) R8T

Explanation: fIt38 SX0T¥ T1Hld 8 SISTEGS (77 - G35l ST | - 203 SETF » FEAR (W6 a1
(A FE T 3 58 FTIR SNSRI 54 X1 - AFI 1 - Republic of South Sudan - T - T

54. Question: T AEF JfedTeT SNaNY (0 ¥ ?

A) 2EC

B) farra

C) (==

D) WY& AT AfATTe

Answer: B) g

Explanation: S&T8TES 8 Tad SNGSTF [HR (TISTENR A8 (316 2ET AT a5l - af6 $58¢
TIETR 33 M6 Sfsfde 231 - aftd g wag frrEs e FRETE J1Fe| - 97 AfSOFE Ty



qfSl

55. Question: (@1 (7 TG ACIHFIT SGS 737?

A) &

B) S oo
C) (iF

D) (31962 9%

Answer: D) (362 9%

Explanation: According to Encyclopaedia Britannica, Brazil, Argentina & Peru are latin
american’s country

56. Question: 2HIFCNET AT Y4 WIF (FINI?

A) TS
B) TR
C) &R
D) fis

Answer: A) TS5 (Paris)

Explanation: Interpol 93 ‘Tﬁ@r"fw International Criminal Police Organization. aft S»3w@ SEF
CCEAE el | 8w Ab7 TEwIR e JAFEIE fSFN 2@ S8y S HIETF EET 933
S NI HIETF 78 TRE T9a0gF 31T F1 | T S5 (71 [ I1a1 8% FAET8 97 ToH
OSSR 5861 TRTACTT 29 T 2HIECNER TusiTw 16 FE | AT ABHNIT - 51|

57. Question: JHTIET FAF TV (GANT INT FA TI®RA?

A) 2009 HIT
B) S2%) NI
C) S22 AT
D) 9w ST

Answer: B) S (T
Explanation: Arab oil embargo, temporary cessation of oil shipments from the Middle East to

the United States and the Netherlands, imposed by oil-producing Arab countries in 1973 in
retaliation for U.S. and Dutch support of Israel during the Yom Kippur War.



58. Question: "I}’ XA (FI (W07 AF0?

A) B

B) NI

C) Jerente3T

D) EGI(CIRE]

Answer: D) XE@EART

Explanation: 3193 2o 3EMEARAT 95 ST FICTF 63 STeT 2185 31 J07 A7 ASETAT 3 RSN 0|
2Af6 STeT 8t a7 A fo SIaf%e |

59. Question: "FGIGET AGIFT 0R?

A) Frs SIfETa e

B) 3% Tsfoel §fe

C) TSAB-(I3HET @Y §fe

D) SnfeskEd &7 foarTar 339 §fe

Answer: D) STfosEF (59 faarerel 335 §fe

Explanation: @Hﬁ’ﬂ & TIF TFT AFNES G e m FI29 APcesad RFE- FTH1EET
SETFT Y000 WETH 3D SN FIATCTH ATE 310 2T, I FHFH 77 O (NCBTF, 2000 | IRATTT
Y000 SICTH 38 (3 Af6 IIFT FE AT ST F(F 2008 NI ¢ (WM | SO SGIPT 9T T

91%- Cartagena protocol on biosafety to the convention on biological diversity.

60. Question: (S3FAT TFEf6F o, T TSANS AN TESY 7%) A IRF SIS [T T ABHGF
(OS] I STSTAS (T (M7 A2

A) TR

B) o199

C) *nfFa=
D) SRHEANS FAf6 e F1 2@®

Answer: D) SRSNFTTS

Explanation: 736 Jifee $a7 2@®

61. Question: (ST FFNE T “HHH-



A) T
B) (@112 a3
C)fds=x
D) @ &3

Answer: C) f§% 23 (Correct option: C)

Explanation: (551 $F1E AV Zoa1kT TS (6@ @ & | ¥ SIFe@ (351 $IIE 8%
BT YR 271 70 Med HHARS (FC | NANF SHoTRF (S00°C) A7 (6 (F ATHTH FIAC (I
PPIE (FIE & ©ISreiS s 231

62. Question: F© BIFNEAT AfAF F947 NIGF @F?

A) o T3 TGS
B) So f&far (ifBars
C) Soo f&f3T (IBEre
D) 8 f&fsr (ifBers

Answer: C) Soo fSfsr (B Es

Explanation: Pure water freezes at 0°C and boils at 100°C (212°F) under normal pressure
conditions. When salt is added, the freezing point is lowered and the boiling point is raised. The
addition of salt also lowers the temperature of maximum density below that of pure water (4°C
[39.2°F)).

63. Question: CNG ag ar¥f |

A) FTEAG Tgel AATT-IH (O
B) Fga &F@H BV 1T

C) FSI® (&

D) 3N 91 AP0 TH

Answer: A) FETE Fod ART-IHT (&

Explanation: CNG: Compressed Natural Gas

64. Question: FFS NCOEMT ZIFEIFTT AF2 FIAT 20 A [ JE?

A) @&
B) 36 (¥
C) AR



D) faSaa
Answer: D) faSaa (Neuron)

Explanation: Y@@ SHT[TF 3 FHFAI 975 [AST I THEE I¢T| JIF (316 (316 AIEH
(fASae) fam WefF | a2 236 1A A TS @R S, ooo (FfG AYEH I ATS (N7 |

65. Question: (FTF AW & S TIGF (JFH?

A) T
B) @Y

C) =«
GIE

Answer: B) 1o (Air)

Explanation: S5 Tar I (F5T TG (@1 MR @ (&1 [ | Tl 0o R/, ffate
58w fR/CT 972 (FTRITE ¢vwo /T

66. Question: SR ATew I P I5f [FENRGE?

A) Ldoo
B) 8500
C) @eac
D) Losq

Answer: A) bdoo

Explanation: JWa3@d ST TF b,0%,900 (XTF 3T bosq F5f RFENNCIF I (MOTH ATS@H 8.59%
A2 I AfFmEd faafde ITefE v .53 %!

67. Question: F@ REMANRET F1& fF7?
A) Sfafie 59 F3f63

B) (ATST IS Fa1

C) F& SWG 18T NS FAT

D) @ {32 FT

Answer: D) SIfS&e Af{I% F4T

Explanation: F&T SENETST FT AT AT AFIZH, FIEF SR-SAFRG AT, AT A=,



O STNe] T, I T NG, TN A 324, (@151 Af@, T G I AN S
RemanfaEs F16 FHE SAfHI2T F47

68. Question: Choose the correct alternative and mark its letter on your answer sheet.
Stockings are socks.

A) short

B) small

C) big

D) long
Answer: D) long

Explanation: BCS_6.PNG

69. Question: Many students will now be starting to about their exams result.

A) comment
B) reflect
C) inquire
D) worry

Answer: B) reflect

Explanation: worry - Sf&s 2837

70. Question: She told me his name after he

A) left

B) has been leaving
C) has left

D) had left

Answer: D) had left
Explanation: This sentence follows the past perfect tense formula: Sub+ simple past form of a

verb + object, after + sub + had + past participle form of a verb + object. leave (third-person
singular simple present leaves, present participle leaving, simple past left, past participle left)

71. Question: Climate is a of the environment.



A) size

B) situation
C) rank

D) state

Answer: D) state

Explanation: S (Climate) §-5& (I A T ST Wafrel SIFRISATH ST AT TG
S| ACIF 6 M 2, Sy SHECTH a6 S5 (State) |

72. Question: | finally killed the fly a rolled up newspaper.

A) by

B) from

C) through

D) with

Answer: D) with

Explanation: (T4 ﬁ“{‘a‘ﬁﬂ RO T JHW Kill a7 ST with preposition ITI

73. Question: We must look pleased or else he'll be

A) delighted
B) cross

C) happy
D) dissatisfied

Answer: B) cross

Explanation: dissatisfied- I5& 3 |

74. Question: The man died over eating.

A) by
B) of
C) for
D) from

Answer: B) of



Explanation: In - TSITOTE 93% A30GEG A1ET 83T JA0® in X(J| At least six people have died in
the accident. He later died in hospital. ‘TT%‘(@WIITGNTW in (T Cambridge | would like to
die in my sleep

75. Question: He advised me smoking.
A) giving up

B) from giving up

C) in giving up

D) to give up

Answer: D) to give up

Explanation: Complement a ﬁﬂgVerb SN (ISENF 51T W Verb TI21F F0© 2, ©RE infinitive
(to+verb) FI9R1F F1(© | Agree, arrange, resemble, decide, demand, required, forget, advise,
propose, manage, suggest, refuse, ask, seem etc.

76. Question: The expression 'after one's own heart' means-
A) To be in low spirit

B) With complete devotion

C) To be in high spirit

D) To one's own liking

Answer: D) To one's own liking

Explanation: After one's own heart- @ 7% Wﬁfl

77. Question: The day of my sister's marriage is drawing "near" The word “near” is a/an
A) adjective

B) verd

C) preposition

D) adverb

Answer: D) adverb

Explanation: Here ‘near’ is modifying ‘the day’ which is an adverb of time.



78. Question: Which of the following sentences is the correct one?

A) My father was in hospital during six weeks in summer

B) In summer during six weeks My father was in hospital

C) My father was in a hospital during six weeks in summer
D) My father was in hospital for six weeks during the summer

Answer: D) My father was in hospital for six weeks during the summer

Explanation: period of time J3T® for I137® 27| IS for six weeks I& IH0R AOF |

79. Question: He intends to in the country for two months.

A) live

B) halt
C) stop
D) stay

Answer: D) stay

Explanation: live TTaT A3 5T FATF | AD/F, X N AT FAT JAN© stay TIRE2 AT

R

80. Question: What are you so angry ?

A) for

B) at

C) with
D) about

Answer: C) with
Explanation: (3 3@ q15Nf¥® JIM® angry A5 9K about preposition IX |

81. Question: The parents became extremely when their son had not returned by
eleven o'clock.

A) angry

B) annoyed
C) disturbed
D) anxious



Answer: D) anxious

Explanation: Angry 31X ( FTET 01, FIET (FIAT FF I IS, (FIEAT A ) I, 8| Annoyed
o f48& | Stress I Hod FAT; 517 (M3T; (VT FATI Anxious ¥ Sfd|

82. Question: 'l remember the holiday | spent in your home’, she said.

A) ever
B) hardly
C) usually
D) always

Answer: D) always

Explanation: [P Ss3¥ o always T73%® E |

83. Question: He knew it was a very operation but he was determined to carry it
out.

A) difficult

B) dangerous
C) troublesome
D) risky

Answer: D) risky

Explanation: Operation 34 31 fIsa% a1¥ 3317 3@ a1l 3% operation JF 7 27| TR SoF
risky R |

84. Question: Misanthropist means

A) One who flirts with ladies

B) A person of narrow views

C) One who believe that God is in everything

D) A hater of mankind

Answer: D) A hater of mankind

Explanation: Misanthropist: S5fI@st



85. Question: First language means the language.

A) important
B) main

C) official

D) natural

Answer: D) natural

Explanation: First language - ¥Te©T. fars ap ©PONE2E (T ST AT FT I (612 First
Language.

86. Question: Shaheen would never have taken the job if what great demand it
would make on his time.

A) he knew

B) he had been knowing

C) he was knowing

D) he had known

Answer: D) he had known

Explanation: Sentence f& Perfect conditional/ 3rd conditional. clause- 4 would/could/might +
have + V3 + extension X, if clause- 3 had + V3 23|

87. Question: She has her hair a beautiful shade of brown.

A) colored

B) given

C) dried

D) dyed

Answer: D) dyed

Explanation: Dye 3113 T F4TI

88. Question: S 6T Fo 3PT THH?

A) 95.89
B) @wd.©»



C) wa.8>
D) v.@q

Answer: C) ©9.8>

Explanation: 5fa: & fGTE = Soo (7.1, SEEE = 0599 2P

89. Question: 1+2+3+4+ +99= F©7?

A) 84 Qo
B) 8a¢o
C) 8vto
D) 8¢o

Answer: B) 84¢o

Explanation: n(n+1)/2 = (99 X 100)/2 = 4950

90. Question: 336 48 BT a1 Jfb (ST A T=yfer fAftxey 11 2@ O ST 30° fSf (e

T3 & | {5f6 F© Ofre (o fe?

A) 14 SGF
B) 20 f3o1F
C) 18 faibra
D) 16 561

Answer: B) 20 61

Explanation: f 356 x G Sgre (ot
X/48-x q1, V2 = x/48-x .". x =16

.. T B SRTTA (7S = (48 - x) G sin0 =

91. Question: 936 AP TEF s FIET G891 97 (Fazwd ¢53 IMRCEF 2@, 7N Fo?

A) >v B
B) »x o=
C) »8 fSbrE
D) »b 61

Answer: B) »x 511

Explanation: &fF, SFeF 5@F 7% x o1

. AFeFIF TET s 2x fNBIF .. 2x x x = 512 = x2



=512/2 = x =512 .". x = 16 (7 = (16x2) 617 = 32 617 .. =2(16+32) 6@ = 96 oI

92. Question: Y= 3x+2, Y= -3x+2 232 Y= -2 777 sifd© snififes f5aft &ie?

A) 236 SR Ags
B) 436 s31TR fags

C) a6 fa= fags
D) 236 safEae fags

Answer: B) 343G so1912 fag% (An equilateral triangle)

Explanation: y=3x+2........ (i) y=-3x+2....... (i) 9 y=-2...... (iii)) 92, (i) 8 (ii) T THFHCEF BT
JATFE 3 8 -3, JOH TFHAA FHF | ol 92 (FA1 96 o= | 5 (jii) 12 @G (i) 3 (ii) 7 2@ fom|
©R TNFRISE 711 s1fdw fbaft a3 Tfzare Ags|

93. Question: X+Y = 6 93z XY=8 T (X-Y)2-97 NF F7?

A) 12

B)6

C)8

D)4

Answer: D) 4

Explanation: (x-y)? = (x+y)?-4xy = (6)>-4x8 = 36-32 = 4

94. Question: Y% AE T AT $0,000/-BIFIF TIF [0 F© I?

A) oo BIFT
B) Yoo BIFT
C) Lo BT
D) 8o BIFT

Answer: B) Yoo GIT
Explanation: 93T r = 4% = 0.0, p= %0000 BIF[, N = F¥ = »/Sy =T = 0.9¢ IR .. | = pnr =

Y0000 X 0.9¢ X 0.0 = 8¢o LIF]

95. Question: I S¢ G (IS &S ToFET 8o BT CIFNF 16 27 & S¢ B (PN &5 Folb
M6 F7?



A) Y
B) So
C) S
D) »

Answer: B) So

Explanation: 3¢ f& (@R & NG F7 TEFAT (boo - 80) = Go BIST| 5 9T Yo% = (5¢ X Yo)/
soo =316

96. Question: x+1/x = V3 2, x3+1/x39F T ___.

A) 2
B) 4
C)6
D)0

Answer: B) 4

Explanation: x3+1/x3 = (x + 1/x )3 - 3.x.1/x (x + 1/x) = (N3)*- 3V3=3v3-3V3=0

97. Question: V2 W26 F T22m?

A) 936 JTe1RF 22057
B) 9%f6 Tef 15T

C) a6 3[ew S22y

D) %% S1[eTw 12205

Answer: C) 935 3w ST

Explanation: NW‘?{%W@ wa:zmﬁ SFANS TFTT FHTITT 1 O A3y NAT J¢T| A_F
ST SIS IR TRATE D7 SR FET| V2 AF(6 SRETw 3T |

98. Question: @ F AFH FNTF 129 T CF IE 2D FIEF © S FTS FI© PO e ABNI?

A) v\ fug

B) » faa

C)xafug
D) 8@ foa



Answer: B) » fadq

Explanation: 5/39 3% F18 (¥ 3T @ Ut | S 3 F16 ¥ 2T @ X 29 @) = »s | 1567 ©
STCTH T =0 X &S =389 fO|

99. Question: x2-11x+30 & x3-4x2-2x-15- A7 5I.51.8 $©7?

A) x2-x+3

B) x-6

C) x2+x+3

D) x-5

Answer: A) x2-x+3

Explanation: S F1f = x2-11x+30 = (x-5) (x-6) 3T T = x3-4x2-2x-15 = (x-5) (x2+x+3) .".
SIHLY = x-5

100. Question: ) log2 + log4 + log8 + AT T WG T TN $672

A) 45 log2

B) 75 log2

C) 65 log2

D) 55 log2

Answer: B) 75 log2

Explanation: log2 + log4 + log8 + ......... =log2 +log22 + log23 + ......... = log2 + 2log2 + 3log2
o = (14243+ ... ) x log2 .". S Sofb 5ma s = [{10(10+1)}/2] x log2 = 55 log2



